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Question 61: [Basic] Textbook, p. 256, Problem 3.23(a,b). Hint: You need to use the solu-
tion of Textbook Example 3.5 and the time-shift property of Fourier series representation.

Question 62: [Basic] Textbook, p. 256, Problem 3.23(c,d). Hint: For Problem 3.23(d), you
need to use the solution of Textbook Example 3.8 and the time-shift property of Fourier
series representation.

Question 63: [Advanced] Textbook, p. 256, Problem 3.24

https://engineering.purdue.edu/~chihw/24ECE301S/24ECE301S.html


Question 64: [Basic] Textbook, p. 257, Problem 3.25.

Question 65: [Basic] Textbook, p. 257, Problem 3.27.

Question 66: [Basic] Textbook, p. 257, Problem 3.28(a) with Fig. P3.28(b). Problem
3.28(c).



Question 67: [Basic] Textbook, p. 257, Problem 3.29(a,c). Remark: Problem 3.29 focuses
only on discrete-time signals.

Question 68: [Basic] Textbook, p. 257, Problem 3.30(a,b).

Question 69: [Basic] Textbook, p. 258, Problem 3.30(c).



Question 70: [Basic] Following Textbook, p. 260, Problem 3.33, we note that the impulse
response of the given differential-equation system is h(t) = e−4tU(t). Solve Problem
3.33(a) and 3.33(b).

Question 71: [Basic] Textbook, p. 260, Problem 3.34(b,c).

Question 72: [Basic] Textbook, p. 260, Problem 3.37.



Question 73: [Basic] Textbook, p. 261, Problem 3.38.

Question 74: [Advanced] Textbook, p. 261, Problem 3.39.


